—

r CHPPTER -1

¥ . aR2=16 ) T~ 5%2 =10
| ) ke ward ri:ﬂl cj o f.w{u{n of Qa cone @i ||V Two colns are dowed together pihatl G5 the -J:-.'tztf:a;l.l;b:fu
Bun arel dhe Lo &4 end axe zem ard 1em (9 cUA'Md differenl fakes on dhe oln » y
Find s cued Aoy ace area |24f the o of Ahewamnallert vatue of a wil of dala
2) The vuolaume of Lwo cones oi dame Jrase e 368 ard 13.4 . theR -b’(r:{ dhe lawgesd value .
3’-"5'-0{:1,(;\ 1 - S z 3)The mean a dafe L5 25.6 ard s coeldiu®nd

B of mfl I L - i f'm'Fr',d Tatio ’mcf“i vardation w'ﬁrg:n; #ird the #lardand d '.{c{h'on i
0 Lomacal flosk I gk of wolt.The sl has [4)8 ard @ ane Jemgevents auch thal PURi-g.u2 P80
base sadivs v unls ard helghts b units the wedex|P(ANB) ~0-1b Fird: DHplnot P) i) plA o1 B) -
LA .;'LLwl_'!d'L dnto ,Ltﬂ.a-k of 40A€ stadius T wnily Fred ﬂ%@ﬂf 2wo dlee oxe swlled | then f'l'.nd the _jum;ﬁbd% cf
“:“f'ffi‘tl of walet dn the c?tfrdm:mf 'fra--.k &tl.‘n'rui gt of Jose valiat b ot Lhe dijjerterys of
A)FPrd the movclmum Teluwme s a cone thal can be ?‘M‘E vaoluby § fm_ﬂ."‘a'j ZXE - |5
(:-7)"1 wed oul of a setld hemisphene of vadius vunils ?j)d dandn s drwawm jrom o pack o 52 cands Frnd
DFred the diameten of o sphere whose suface  lane qitotabili B h"a o a heard ov ~ved cand

anea &3 15um* [ompalsony) AP e mins Lrd. Sontdne of the fowt n
Y _ _J BREG =5 ratwiad wuamberts ¥

) Lhe internal and exdernal déamelens j a (3) Frwove AddRFon Theovemn of powhabl, '
hollouy hemishernical wessel «rf 2oumand sgemi| 31 A ard B ane any woo everds then
Gund dhe cost’ o paint the vessel all oven 014 fom P(RUBY - p(e) 4 P(R) + PlONE)

24 nughl cirendan -zlind_gnmnmmmq kage vadfus ?h&{ Aard 8 ard ¢ ane three events then

bemt ardd height (50w of e oreanms e ALe ottary pipyuGEL Y- PIRYHPIR) 4 Plc). PIRNR)-PIRNCY -P(R N4

Is 4o Le ydled inwnes of helght aum ard bas vadiuss PIANE A

fn‘l-hc‘wT hermdapheruical caf. Frd the o of cones [wrnéz!i:guﬂj

Needed 2o ernple dhe comtainen > w) o

Bn herrd ﬂm'mu,igai hotlao Powl has ratewal of 0 Do Hhe -rafuh oi_ ?+x -12 -0 K8 -

ryri!;imgx:"-‘-bgjq cuble vm. F xlowml déameter tyem J g
ThTeken fonmyiwls

) v Hompubborgd Ixg8 -8 | G.RAJESH., M Sc., B Ed., MBA,,

H Draw a tangent al any qoIt R on the chee |
q radfus 3-4 un ard cenbiéal P2

G.RATESH ,M-3c.,.B-Ed., |

MBH.. M-S ..MA. |

™M-Sc ., MA



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

warnrAL R Aadacalar Neat
TAUT.TNOT

/I
VVVVVV.T LAUUAOU T

CHAPT

) HX2 =10
1 Find me% the bufan?(f{mu{bam
')wrt':nlé (-to4) (-8, -1) ard (-3,-5)

2) W athout ng dheorem shows Ahal
Ihe guolrils (1.-4) (2,-3Y 4, - ¥ .
voba e st TS
The Mnia (3.-4) ard Jnow?nﬁ slope
A Gdrel the equation of the Liedon
o he Une jolving the qusinls A (42 ard B (b.-4)
® Show thal the wbtruf?m Lirves %-24+3:0 and
bAABY+2-0 ane endiudan [compuls

e i i L
D 3ind the kqualion § a ghl Line quarallel do
Y axis ard wor iJmaua% e gotnl o;,znwmw.&m
q dhe Lines AN+ 6Y <13 and vf.-&\d-rq:o

24 Lne makes Aome dnderutyds on co
anes wove sum £a1 and I pases Thouwugh
(-3.8). 9ind i equalion ’

velles ane ot (-9.0)(-8,b)¢1.-3) and (:xé.-_;
1 the e feom e puoul
o P Weaj, fe) Potnd P 4
dhe cenli@

.-6/1

<)

) OB A :tan?uﬂx
P frg adiur z-6
atl a Jdistange -1-20m {J’tom

Gi.RPJESH., M.Sc.,B.EL.,

_ MBA.M-Sc.,MP
Kindly Send Me Your Key Answ

ur el

www.Trb Tnpsc.Com
CHRPTER -6

1) 5X2 -1 |
ney vk 01l =P, qowve thal ) - P !

2) 4 KL @M@a@ﬁ%ﬂSmﬁﬁ

he ‘ahe Mmmm;ﬁ‘l
°Ly toed Lo fm"nzanm wound Th#
m The ¥ M&aﬁmuﬁd.&b(}w
© L |
Fird the Lingth of 1he  asurming thol |
Mﬁbm@imm ./»{ruﬂ?
a)rmmmmq.am B50J3m 4w .:hean?{t
9 L a wwt on the Is ol erwed,

?CLU'I.LL
Lo M ZoLFTrd the dstante of rnﬂe can from the tok
A 9L arsG b ATNO -¢. dhe Juwue thal (acino-t

bcm(ﬂ)*'jm,m_’4 b32_c2 i : [ ,J
WL Lderily sine4ano-1 [ @My
s g ke ey

» . ' A
DA qwle em .zAfJuAmm.Lupo;a
ng&ogma@no;’m top of m‘gw{f
otseuned pwom a.?wtmt pon '.'Uxfo vcund 60 arnt
vion 20 the gl A from he

the
it

towen b 4% - Efrd she }m‘?fv\i o tave
2)To a man 4

tarduio‘;iﬂ.dﬁ Mn,kaue.wam?ifq. )
alion of dep botlom of avindow 66 amd s
SRAT H dhe helghl o man dx\80um ard ) he
i em m'éThe Amli,wﬁa.iizshc&j&l windou
W “oad N0 o Prove p’q97(hq%+3) -

@af ane T e P hpaataong)
) QIO VO of 4 =2%"and IXg-g
herce Aclue 22 %-6 =0

G- RAJESH..™-Sc., B-Ed.,

MBA., M-3Sc., M-H
et@gmait.com

]

il Acalal
lanLm- Padasalai



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.P fai-Net
5 UFALR 5
D Aolue 3x+y-37-) %Yz
D Iind the 1ewm

5%2 =10
“X-Y4z -2
: G BxMy®, 8oyt
3) Jund the Bouded vaakies 9] 'x-rroa

) X
gém xlkaz il 8 'K,‘-}‘
Ane x%i am _ Ainx o g .
tanz - S0 swalonal ExpuLession »
£ [compus oy ]
NEf . PHBa-h y- 42a.-8 e ij“f =10
3a.3 o
Yalue of x*y-2 S
D ahe olenuse of a L d W p73

4 /
2) 9ind the SquUare Aot o bux? -4 17x% g 4

™
D Gorwbuud a APGR £n wrhich Gﬁzsmlip__ﬁ%

ard the ymedian P& jpuom P 2o GR 28 4 -y e
Find the length of the altitiude from e 2o g

G1-RAJESH.,m<S¢., B.Ed .,
MBAL, M.Sc, M-P

59
|09} APBC s

www.Trb Tnpsc.Com
CHAPTER -4
5X2=10

riidon 2o SDEF auch 2hat B8C -3¢
EF = pum ard arua OARC=BLu* Fird anea o BOFF,
2) What Je of laddet L5 meeded Lo swach q
Jw',?u o 14t alv mwwﬂx}win/,eqw
Ladder A 1it gom The wwnall 7 Roud off 4t answtr
fo dhe ment Lenth

%) Ahowthal The angle hisedor of Duangles ane conapvuent
AyThe Lerigth of the Luwo tangerils Ay
Ealbrloy ‘nl Io a coule ore Lqual . Gilve powos

® Explain Cevas theovem (mm&cm‘.]']
5 2xb-ih
Dn agioplane aptn take off puwm an ainpod and
-‘.weodm moth al o Apeed og tao m A . dd the
Aame Lime  another plane toke off from Lhe sanme
aguord and s durk woest al a aperd of 1200 ki lhl
Hew Jan walll Jse the oo ylane ajten 1% howss
2) Ahow thal Ln a T .mediansy ane cowuooveri |
@ Prove Pan?{e Bdedor Theprem [compuds ]

w x8-8 |
) Ooaw he gvaph of ¢ a1 ryx 13 and hee
Hnd Fhe owwts of x4+ xt! -0

@.RPJESH., M Sc., B.Ed .,
MBA.,M.Sc., M.A

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

MATHEMPTICS
e —— s | L.

[=) CHRAPTER -2
e e g

)t selation R & 8&#01 iud

v i - ~ - 9 T .
(0.1:2.3.4.53 . Determeng s don

Y AxR- [ca.:\cq.u)(s.:\(s.m} Hhen Lnd n ard B>
the set [

RX2 =D

Y y-n+3,
o
wn and Range 2

:‘l{.(‘{ D - f—*-} ard R . {o 2]
.d;{.\n.cd Ju( F(x)=ax+b 3 o

Y The fundion s:p-n
nlo funclion > Fird a and b

D Find ki dosk)- 5

wherne Jth) =2 k-

[

|®a‘ .uw dldf,’[,{d 9

AU (at2,0) ard (5. 2a+ b) ane

|.¢L1L'-(LI Fird a ard
I"\\)

.;'ﬂ)ﬂ'[i,}%} R- {3‘3,8‘} c:{g_”} amd - {F,?. 5]

b [compulsony ]

3Xb -:“5'

check

www.Padasalal.| 0
'F )

(HOPTER - 2
1) _ =
Daam b ate Wwo quovilise
thatl ab x b* -8 Gurd a ard b
2) Deleunidne the
T U1 ardW et toum & 19
leas than 50

4) 3.lndy THe 1o™ terum
& te8vard, the common gwalio Jb 2

® 9ind the staloonal joum of the muwmber

KX2 =10

W A

gne;ua.«{. Lerm Gi an AP WFLU'»{‘

3) Jind the wum of all quvlive i’nmams

a o1 P wrhove 8™ toum

i.Ié (DNC) X (BAD) -(AX B) n((XD) Ly Lue ?
@‘L‘ the fundien §:a->R s defcned b?i £(2) =

:'.141 h e . oo sa
l.xa_: ::{5:¢3 V3@ W FE2) H Sy ea5 )
IN-2 % >3 ) 401) -34(n) f‘”'!:!‘td"m"dj

3(-3)

geo - X! shau That fogs 998 <% '

3"% 3ln) =2%-1,
)

Y Doaay o PRBc oj base BC - qm.

[ M ¥

0123 [wg}gubro'uj,]

% 3xb-IR
DY d Is Ue cahest common LO’LGﬁ 32
ard bo fM '::?ruclua VS 2P fc:—-z:z'x-fbo

an AP are x.Y1L

24 1 m* oed 0™ um
. then Ahow that

Hactm-May (n-2) 37(L-Mm)-0 THx-Yn(y7)I417-2)M -4

B & man samed 7 166 In Lhe yeans. n
wash

" IXS:-S
e

1 The piand q-m‘M Aaaned

[0« 60" ard bameclor o <0 meels Bt at D Auwch
Ual BD =bum

|
G<RAJESH, M.S¢.,B.Ed .,
MBA, M-Sc., M-P

Kindly Send Me Your Key Answer to Our

T mote than e did in 1he .Qmed,(h? wpean
(Haw mudch ke sane in % gean [cormpuds =
T
V) Drtaxw the a'ra.,d-t ci‘ xKY24 . XY >0 .“Mna Ahe
%mi‘;‘f‘:”‘i DyYywhenx-3 Hxwheny -6 i

¢ -RAJESH, M-Sc., B.Ed .,
email id - Padasalai.net@gmail.com’, M -Sc., m-H


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

